FISHING PORT PRODUCTS

CAR STOPPER | WHARF EDGE PROTECTOR | STAINLESS BOLLARD | SATETY LADDER
TIRE FENDER | DESIGN FENCE | OTHER PRODUCTS

CHo Aol A

DAE A MARINE SERVICE

Q0 DAMS



© CAR STOPPER

® WHARF EDGE PROTECTOR
© STAINLESS BOLLARD

O SAFETY LADDER

@ TIRE FENDER

O DESIGN FENCE

© OTHER PRODUCTS

1\

-

€0+¢0 S10NA0¥d 1d40d DNIHSIH

J0INA3S INMVIN V V3d



SRC xjato|

Stainless—Rubber Car Stopper

RUBBER CAP

NUT

STAINLESS COVER

RUBBER BLOCK

BOLT

CON'C

1
B Type + B Type

= MH|E K&

»

A Type A '

B Type

C Type o

S I

B Type + C Type + B Type

T34 DIMENSION

1000

165.5 223 223 223 165,5

e - '

a) e e P 777 .
L\ - - S g

100

[N 1

<

DEATIL "A"
DEATIL "A" .

@ —0

@
NO ITEM SIZE MAT'L QTY
@ RUBBER BLOCK M RUBBER 1
@ COVER 3T X 1M STS304 1
® REINFORCEMENT SUPPORT @60 STS304 4
@ ANCHOR BOLT M20 X 250L SS400, STS304 4
® NUT M20 SS400, STS304 4
® RUBBER CAP RUBBER 4

S0-¥0 S10NA0¥d 140d ONIHSIA

J0INA3S INMVIN V V3d



SRC 2 2|2 S

Stainless—Rubber Combination Edge Protector

TN By T =

L

21 DIMENSION

= XH|E SX|ES

@ 4-260 @ .
AT z @ B — I g
| i:. I 250
.25 __ s00 500 500 250 |

NO ITEM SIZE MAT'L UNIT QTY
150H X 200W x 2000L

@) RUBBER BLOCK (150H X 250W X 2000L) RUBBER M 2
150H X 200W X 2000L

@ COVER (150H X 250W X 3T X 2M) STS304 M 2

©) ANCHOR BOLT M22 X 250L 88400, STS304 M 4

AH|Cl2|A BAZ|ESKY
Stainless Wharf Edge Protector

.oty

20
H

T HO M

fjo
=]

—_

e r

Air CapT-ZE ( 232|E EFMA| Air &3 Air Hole )

S2|E EHEA| LIE &34

= &g

Type Dimension 1,000L 2,000L 3,000L
H w T P P1 P P1 P P1

100HW 100 100 9 500 250 X2 | 500 X3 | 250 X2 | 500 X5 | 250 X 2
125HW 125 125 9 500 250 X2 | 501 X3 | 2560 X2 | 501 X5 | 2560 X 2
150HW 150 150 9 500 250 X2 | 502X 3 | 250 X2 | 502 X5 | 250 X 2
ITEM SIZE MAT'L

BODY 100 *100 * 9T STS304

J — ANCHOR 213 SS400

NUT M12 STS304

AR CAP RUBBER

£0-90 S10NAO0Yd 1d40d DNIHSIH

J0INA3S INMVIN V V3d



AHQI2|A AMFE
Stainless Bollard

= 232|E H| SHA
u ZoI5H LA

« AH|QI2]A Round Bar A2
= 02 7iM

« BAof| 2 FH 2 HX|

| 7HM (AriQIzIA AMZ)

24 DIMENSION

...I:.. A K
i |! I . 7 0
' | X Y ANCHOR BOLT
il - R { { AN - ssauufm "'Tt-"'
Py STS304 | AN | PLEE ~ ) ] '
¢ r—E I ot !
CLE_ F
% 7|= S2E IH| L HZA| Al Stainless 7Hs
T BODY ANCHOR BOLT | PLATE
o) fplalBlc|EelFla|t [H|H|H|m|[MmlT k| w| L oy w|T
5Ton  |690 | 300 | 350 | 260 | 130 | 220 | 40 | 40 | 120 | 170 | 380 | 080 | 670| 25 | 300 |M20 | 450 | 4 | 80 | 16
10Ton |0100| 360 | 450 | 330 | 170 | 280 | 60 | 50 | 140 | 210 | 470 | @90 | @100 30 | 360 |M27 | 600 | 4 | 108 | 22
15Ton  |0120 | 450 | 550 | 400 | 210 | 340 | 80 | 60 | 160 | 250 | 560 | @100 @120| 40 |450 |M33|700 | 4 | 132 | 25
A Type (7I1Z Sz 2ZE) : STS304 B Type (71& 28% 2Z8) : STS304
= 2 2
- . — " : A
e (i~ AT % V=7 1
o o o - &
- F - [ | = _F _ . = ’
afls \ afln ‘ o —
7 77 @
WA W S -
Ty ' T ——
CAPACITY B0
(Ton) D A B c E F G | H | H2 H M| M2 | T K
1Ton @50 | 200 | 250 | 180 | 100 | 150 | 30 | 20 | 100 | 130 | 280 | @40 | 35 | 15 | 200
3Ton 870 | 250 | 300 | 20 | 110 | 190 | 35 | 30 | 100 | 150 | 320 | @60 | @50 | 20 | 250

60+80 S10NAOYUd 140d ONIHSIH

J0INA3S INMVIN V V3d



| eamicta

Stainless Chain & Rubber Steps

24 DIMENSION

500

=]

it ]7__—7===W = ﬁ

( 8

L]

€% - e — — bo]!

T+2Z1 DIMENSION

= 500W x (Zo|x[et gt

e

B e ot e

Xi= MATERIAL

= Chain—STS316, Step—STS316 Bar £

718

518

290

300

300

2000

NO ITEM SIZE MAT'L QTY
@ STEP -1 RUBBER, STS316 4
@ STEP - 2 RUBBER, STS316 6
® CHAIN — 1 STS316 @13

@ CHAIN — 2 (END LINK) STS316 @16

® WASHER - 1 STS316 4.5t 20
® WASHER - 2 STS316 4.5t 8
@) NUT STS316 M18 20
HANDRAIL STS316 @40 2
©) RUBBER COVER RUBBER 2
SHACKLE STS316 @25 2
() CHEMICAL ANCHOR BOLT STS316 M22 8

H+0b S10NA0YUd 140d ONIHSIH

J0INA3S INMVIN V V3d



[{ DESIGN FENCE

I 270 Efo|0of HIG
Tire Fender (Hanger Type)

= 02 JHM
= ZoIsH LY
- D210|5 AHQIZ|A HJli(Hanger) A2 2
Eto]of WZ Hix|
- E0|0] RIEEZES S5t 2rat gix|

| 71Z (moi=, z1) |70 (ojz sha, xisse 528)

(@ RUBBER COATING

@ CHAIN

A Type B Type

z\/‘;_r?\;\ A\’WF&_
(

I H[QIotHLtZE
Chain Design Fence

A Type

2000

iy

|

|
<
L

| L
|
L

B Type
T ‘U_\
Ji' '_'L.
C Type
\“ ‘\“ ‘\‘ "\‘ \‘\‘ ‘\‘I
[} M )
ER £ =]
0
T el
2
o= NO ITEM SIZE MAT'L
2
(Y]
§ R = 1 CHAIN @13 ~ 316 STS304
5 ~
i 2 BAR @427 ~ P486 STS304
ﬁﬂ 3 POST 100B STS304

€h-ck S10NA0YUd 140d ONIHSIA

J0INA3S INMVIN V V3d



I Azt SPEC. STS304 STS316
Mooring Ring ( STS316 , STS304 ) : . :
Dai.(mm) L(mm) W(mm) S.W.L Breaking S.W.L Breaking
13 52 20 17 85 17 85
16 64 24 2.58 129 258 129
19 76 29 362 18.1 362 18.1
22 88 33 4.86 24.3 486 243
25 100 38 6.28 314 6.28 314
28 112 42 7.88 39.4 7.88 394
30 120 45 9.04 452 9.04 452
32 128 48 10.28 514 10.28 514
34 136 51 11.62 58.1 11.62 58.1
36 144 54 13.02 65.1 13.02 65.1
38 152 57 145 725 145 725
40 160 60 16.08 80.4 16.08 80.4
| F Type 42 168 63 1772 886 1772 836
45 180 68 20.34 1017 20.34 1017
48 192 72 2316 115.8 23.16 115.8
50 200 75 25.12 125.6 25.12 125.6
55 220 83 30.4 152 30.4 152
AHIALZ e EL
Stainless Shackle !
©» 4 ol
o 1 _i,B .I
SIZE(in) | S.W.L(T) DIMENSIONS(mm) TOLERANCE+ / — (in) | WEIGHTEACH
AH |2l A B c D E F H C&G A (Ibs)
Stainless Chain 3/16 02 9 6 22 4 15 14 37 0.06 0.06 0.03
1/4 03 12 8 28 6 19 15 46 0.06 0.06 0.05
5/16 05 13 9 31 7 21 19 53 0.06 0.06 0.09
3/8 07 16 1t 36 9 26 23 | 63 0.13 0.06 0.14
1/2 13 20 16 48 12 33 30 | 83 0.13 0.06 0.33
5/8 2 27 19 60 16 43 38 | 106 0.13 0.06 0.62
3/4 2.9 32 22 7 19 50 45 | 126 0.25 0.06 107
7/8 39 36 25 84 22 58 53 | 148 0.25 0.06 164
1 5 42 28 9% 25 68 60 | 166 0.25 0.06 2.28
11/8 6 46 31 108 | 29 74 68 | 189 0.25 0.06 3.36
: 11/4 75 51 3B | 19 | 32 82 76 | 209 0.25 0.06 4.31
11/2 10 60 4 146 | 39 98 % | 254 0.25 0.13 7.81

Sk-v+ S10NAO0YUd 140d ONIHSIA

J0INA3S INMVIN V V3d



EHOI.O“O." A BAEUHEA| ARATE AME 3332 45 (HEZS) TEL:051)301-8430~1 FAX:051)301—8429
Y= \www.dams7.com E—mail:dams7@daum.net

Q0 BAMS

DAE A MARINE SERVICE




